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COST AND MANAGEMENT ACCOUNTING-I — GENERAL
(CC2.1Cp)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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4
Raw Materials Consumed 30,000
Direct Wages 18,000
Machine hours worked 1,800
Machine hour rate 5
Administrative overheads 20% of works cost
Selling overheads 50 paise per unit
Units produced 34,200
Units sold 32,000 units @ X 4 per unit

ol () R MeelEte Suae «iTw 97 |, © Swme s ¢

C)

(B AR ergodal A3

() BIPRIRE egopral A7

() AT TSR AL

R Faefte I7ze 97 9T T G e
(W) a3z gy

(M) *fETrm BestmaPiar 7LE

O+

Please Turn Over



&(Zml Sm.)-Cost and Mgmit. Accounting-1-CC2.1 Cg ’ (2)

=X
81 e A AEATS F carra ¢ wAfam fZera 2 SISt sl a1 ZA? +9
e/,

iR wo @I Afitea @ib-Tgf e u! forg, wrfea g (G i 7@ Rowan Plan Sl )’ﬁ;ﬁ
A2

Basic wages rate per hour T 50

Time allowed for the job 16 hours

Time taken for the job 12 hours
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2017
November 1 Opening balance 1,000 units

-qq (LIFO #1@f® SR WreEd 201749 Stores Ledger Account &S
Yo

November 9 Received 500 units @ ¥ 7 per unit
November 12 Issued 1,200 units
November 21 Received 1,000 units @ T 8 per unit
November 30 Issued 1,100 units
[On 30th November, 2017 a shortage of 50 units was found.]
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Cost Financial
Accounts Accounts
4 g
(¥ Opening stock of Raw Materials 12,900 14,100
(®) Opening stock of Work in Progress 7,000 7.900
() Closing stock of Raw Materials 15,000 14,200
(:;)) (élosing stock of Work in Progress 6,500 6,100
losing st ini ’
g stock of Finished Goods 7,500 8,500



(3) LJ(.‘mi Sm.)-Costand Mgm. Accounting-1-CC2. ICg)

) Directors tees pald X 1,500
but ignored in Cost Accou
® Re

nts,

1 chary N Mo s 3 \ a i
W charged in Cost Accounts but not in Financial Accounts T 4.800.
(&) Preliminany o

() Overhead charged in Fin N

ancial Accounts T 22,000 but recovered in Cost Accounts T 2

m‘wﬁ*«%&@@&muﬁ‘afiﬁmm@mﬁﬁml

R,

Materials purchased for stores
Materials purchased for direct issue
Materials issued for production
Factory overhead absorbed

Administration overhead absorbed

Apenses written off T 2,750, but not charged in Cost Accounts.

g
25,000
4,000
23,700
3,000
1,800

5,000.

and Dividend received T 500 are exclusively taken in Financial Accounts,
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Contract price

Work certified

Estimated cost of completion of contract
Cash received

Uncertified work
Cost of contract (expenditure upto 31.03.18)

31.03.18 Oy ¥ 28 X Profit & Loss Alc-4 FRITR &) W 7R Bl st

3
3,00,000
2,00,000
2,40,000

1,60,000
14,000
1,90,000
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Rent 36,000 Power 8250
Indirect Wages 5,200 Depreciation on machinery 22,000
Electricity 5,600 Canteen €xpenses 6,500

Additional information : A B C =
Light points (Nos) 7 7 9 5
Floor space (sq. ft.) 300 250 450 200
H.P. of machine 65 30 30 40
No. of workers 2 3 6 2
Direct wages (3) 12,000 14,000 18,000 8,000
Cost of machine (%) 50,000 60,000 80,000 10,000

Working days = 200 days of 8 hours each.

Service rendered by service department S to production departments A, B and C is 30%, 20% and 50%

respectively.
oifoTs Beri Rertera 9! af & 2 ey e pli
S| @<t T 7 eifem P8 Q-a Mt Teriifro 2! Sipe s AR O Process P Alc, Process Q
AJc @32 Normal Loss A/c &¥9 FE S
Process P Process Q
4 4

Materials 60,000 6,000 ‘

Labour 20,000 24,000

Overheads 14,000 17,200

Input (units) 40,000 35,000

Normal loss 10% 4%

Scrap value 71 &)

Output (units) 35,000 34,000

There was no opening or closing work in progress.
&) o
Operating Costj 9
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Cost of Vchicle T 4,50,000; Road licence fee T 1,500 p-a.; Supervisor’s salary per year X 30,000;

1.

2. Mr. X furnishes the following data relating to the manufacture of a product during the month of March,
2017. Prepare a Cost Sheet and also ascertain value of closing stock under FIFO method.

3.

Driver’s wages per hour ¥ 40; Cost of fuel per litre ¥ 36; Tyre cost per km. ¥ 16.

[ English Version ]

Candidates are required to give their answers in their own words

as far as practicable.

The figures in the margin indicate full marks.

Group - A

Answer the following questions.

What do you mean by Cost Accounting? Mention any four objectives of Cost Accounting.

Or,

What do you mean by Costing? What are the differences between Cost Centre and Cost Unit?

4
Raw Materials Consumed 30,000
Direct Wages 18,000
Machine hours worked 1,800
Machine hour rate 5
Administrative overheads 20% of works cost
Selling overheads 50 paise per unit
Units produced 34,200
Units sold 32,000 units @ T 4 per unit

(a) Mention the appropriate method of Costing suitable for the following industries :

(i) Bi-cycle manufacturing
(i) Furniture making
(i) Toy manufacturing

(b) Name the appropriate cost unit suitable for the following industries.

(i) Transport industry
(i) Power manufacturing industry

4. What do you mean by Idle time? How is it treated in cost accounting?

1+4

2+3

5

3+2
2+3
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Time taken for the job
Group - B

Answer the following questions.
. ; . ove
From the following particulars preparc a Stores Ledger Account of P K Traders for the month of N mb(;,d

5.
2017 under LIFO basis :

2017
Opening balance 1,000 units

November 1
Received 500 units @ T 7 per unit

November 9
Issued 1,200 units

November 12
Received 1,000 units @ ¥ 8 per unit

November 21

November 30 Issued 1,100 units

[On 30th November, 2017 a shortage of 50 units was found.]

Or,
What is ABC analysis of inventory? What do you mean by EOQ? What are the distinction between Bin
Card and Stores Ledger? 3+3+4
6. The profit as per Cost Accounts is T 45,200. The following details are ascertained on comparison of the
Cost and Financial accounts :
Cost Financial
Accounts Accounts
3 54
(a) Opening stock of Raw Materials 12,900 14,100
(b) Opening Stock of Work in Progress 7,000 7,900
(c) Closing stock of Raw Materials 15,000 14,200
(d) Closing stock of Work in Progress 6,500 6,100
7,500 8,500

(e) Closing stock of Finished Goods
(f) Directors fees paid ¥ 1,500 and Dividend received T 500 are exclusively taken in Financial Accounts

but ignored in Cost Accounts.
(2) Rent charged in Cost Accounts but not in Financial Accounts X 4,800.
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(h) Preliminary expenses written off ¥ 2,750, but not charged in Cost Accounts.

(i) Overhead charged in Financial Accounts ¥ 22,000 but recovered in Cost Accounts ¥ 25,000.

Prepare a Reconciliation statement and also find out profit as per Financial Accounts. 10
Or,
The following lransaﬁction.s took place for the month of December, 2017 of ABC Co. Ltd. You are required
to enter the transactions in the Cost books (under cost control accounting system) : 10
4

Materials purchased for stores 25,000

Materials purchased for direct issue 4,000

Materials issued for production +23,700

Factory overhead absorbed 3,000

Administration Overhead absorbed 1,800

7. (a) S Ltd. has supplied the following information in respect of a incomplete contract as on 31st March,

2018 :
4
Contract price 3,00,000
Work certified 2,00,000
Estimated cost of completion of contract 2,40,000
Cash received 1,60,000
Uncertified work 14,000
Cost of contract (expenditure upto 31.03.18) 1,90,000
Calculate the profit to be carried to Profit & Loss A/c for the year ended 31.03.2018. 5

(b) During a week of 44 hours a worker can produce 200 articles and receives wages at the rate of
% 3 per hours. The estimated time to produce an article is 20 minutes.
Calculate his gross wages under the following methods :
(i) Time Rate

(i) Piece Rate with guaranteed Time Rate. (2+3)

Group - C
Answer the following questions.

8. Larika Co. has three production departments A, B, C and one service department S. Expenses for the
period of 12 months are given below :

T T
Rent 3,600 Power 8,250
Indirect Wages 5,200 Depreciation on machinary 22,000

Electricity 5,600 Canteen expenses 6,500
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Additional information

Light points (Nos) 7
Floor spacc (sq. ft.) 300
H.P. of machine 65
No. of workers 9
Direct wages ) 12,000
50,000

Cost of machine (%)
Working days = 200 days of 8 hours each.

Service rendered by survice department S to production departments A, B

respectively.

You are required to calculate labour hour rate for each of the production depa

9. A product passed through two processes P and Q. You are required to prepare process P Alc,
Q A/c and Normal Loss A/c from the follwoing information :

Process P
54
Materials 60,000
Labour 20,000
Overheads 14,000
Input (units) 40,000
Normal loss 10%
Scrap value T1
Output (units) 35,000
There was no opening or closing work in progress.
Or,

(a) What is Operating Costin

(b) Mr. Sen runs a tempo in the town of Ranaghat. Fr

B
7
250
30
3
14,000

60,000

C
9
450
30
6
18,000

80,000

8,000
10,000

and C is 30%, 20% and 50%

rtments. 15

Process

Process Q

g
6,000
24,000
17,200
35,000
4%
T2
34,000

g? Define composite cost unit with example.
om the following data you are required to computer
12

y
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1+2

the cost per running k.m.
oad licence fee ¥ 1,500 p.a.; Supervisor’s salary per year T 30,000; Driver’s

Cost of Vehicle T 4,50,000; R
ost of fuel per litre ¥ 36; Tyre cost per km. T 16.

wages per hour T 40; C
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